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6.1 DO00O0OD00O0O0OO

O000ooO0 poOO0oOoooOOooooooooo
A= a1<m7yaz)el+a2(x7y72)62+a3<$’yaz)63

ODO0O0O0O0OD0OO dr =dre; +dyes +dzes OO 00,00 COODOODODO
gogno

/A-dr:/al(m,y,z)dm—i—aQ(x,y,z)dy—|—a3(m,y,z)dz (61)
c c
00odod0o A0 cCcODOoooOoooon.
Q) ooDooDoooooood.
(i)
/(aA+ﬁB)-dr:a/A-dr+ﬁ/B-dr.
c c c
(ii)
/ A'dr:—/A'dr.
—-C c

Oooodb -cobogo coooooooooobooo.

(200000 p0O0OO0OODOOOVeODOOOOD AQDOOBOODOOO
cooooooo

| Ve-dr = 6(B) - 6(4)

O00000000.000 ¢(A)OD0 ADDDODO ¢p0ODODODOO.
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6.2 DO00O0O0DO0O0OO

000000 pOOdOO SOo000D0ODOO000000O0Ooooooon

A =ay(r,y,2)e; + ax(x,y, z)es + az(x,y, 2)es
000,00000 A0 DODO0O0OO0OO0DOOOO0O0OoDO.
/SA-dS:/SA-ndS:/Salnl(:c,y,z)—|—a2n2(x,y,z)—|—a3n3(:v,y, z)dS. (6.2)

ooods,s000nogno sSooogooboo0 b0, »n0000dSO
gogbooobood,ngubbobogogn.

() 0o0DO0o0O0o0oO0o0o.
()
LmA+MﬂdS:géAdS+@LBdS
(ii)
/_SA~dS:—/SA~dS.

OO0 -Sg sSgbooboboboobooboooooon.

() r000000000000,

/Sr-ndS

o,s00booo0ooboobooboo.booboooooooOooobo sooo
goooogo.

() 0000 22+ 4%+ 22 =1.
() 00 z==+l,y==+1,2=+,100000000000.
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6.3 DO00O0O0OO0O

o0o00bOOo0ooO0obooO0 A0D,A000DO0O0OODODOOD sboo sOooO
gobooboovoooob.oooo,

/Agnﬁhi/VAdV (6.3)
S 1%
00000.000000000000.

(1) 00 VvOOO 2y 000000000000000000000000,
(6.3)0000000000.

() 000000000000000.000 £,¢0000000,20000
ds0000000,0000000000 S00000000000.
@i)

of o 5
Sands_/vv Fdv

(1)
o
/SfﬁclS:/VV-(ng)dV

3) OO0 p(z,y,2,t) DO0ODODODODODO v(z,y,2,t) 0000000000, OO
goodooodooooooooo,jododoonoooooooon.

gf + V-(pv) = 0. (6.4)

(4 00000000000000000000000.0000000000
000000000 ¢ (Jd/nesec)d

q=—kVT (6.5)

O0000.000 k0 OODOO (thermal conductivityJ OO . 00000
gogooobooobboob.ooboobbbbuoooooouoooobo,o
gogodoooooobobobbobooooo.

oT

—— = gV?T. 6.6

5 — " (6.6)
000 «0 0000 (thermal diffusivity)D, 00000 pO00000000

000 ¢, 0000 k=Fk/pe, 00000,

20040 60 140 (0O OO)



ooooi1go 32

64 DO0O0OOOOO

o0b0ooboobo0oDbD AD,A0D000DO00DOO0DODOD COoObD coOO
ooooooo soboboo.oooo,

lxydr=1¥vXAynds (6.7)

go0ooO0o.000o0oOo00obo0oob Oo0.ooboobogbownbOboOoO C
goobO(ooooobogooooooooo)bdoooooooooog.

(1) 00 SO00 zyz00000D0COCODOOD xyOOOOOOOoOoooooo
Ooooo,e7ooobooooooo.

(2000 CcObOOO0OO0OOOOOO0OD FODOO,0D00000O0DODOO
ERERN

4D
E-dr--2°
L T

obo. oob ¢0 cobuobooobooonD soboooooo. ¢ =
JsB-ndSOO0OO0O00O0O00,0000000000O0O00CO000

0
E=-_B 6.8
Vx 5 (6.8)

oooo.0ob0 BOoOooooooo.
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6.5 000000000000

1) 29y 0000 e <2x<b0000000,p(z) <pi(x)d0D00O0D0O0OO
Y ' '
ggoobod

D ={(z,y)lp2(2) <y < pr(x),a < w < b}

O00000.00  pO0O0O0O0O0O0OOOODOODOOOO Px,yyODOOO,

—// —dwdy—/Pd:c (6.9)

goobooboobob.obobobobobobo co pobooboooO
gogbobobogoobobooon.

2 (yoooooooooOoooO,00 POO0DODOOODOUODOODOO

0 Qz,y) 0000,
oQ
//Da—xdxdy—/CQdy (6.10)
nooooooooo.

(3y 00000 DOOOO (69000 (6.10)0000000000.

(6.9)0 (6.10)01 O

// (862—89 dxdy:/CPd:c—FQdy (6.11)

ggbbobooobbbooaoboo.
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